
 

PAGE 1/12 

Environmental 

Product 

Declaration 
In accordance with ISO 14025:2006 and EN 15804:2012+A2:2019/AC:2021 for:  
 

Clear Float Glass 
From 

 

  

Programme: The International EPD® System, www.environdec.com 

Programme operator: EPD International AB 

Regional hub: EPD Russia 

EPD registration number: S-P-07722 

Publication date: 2024-05-23 

Valid until: 2029-05-22 

 

 
An EPD should provide current information and may be updated if conditions change. The 
stated validity is therefore subject to the continued registration and publication at 
www.environdec.com or www.epdrussia.org 

http://www.environdec.com/
http://www.environdec.com/
http://www.epdrussia.org/


  

 
 
  
 

PAGE 2/12 

General information 
Programme information  

Programme: The International EPD® System 

Regional Hub EPD Russia  

Address: 

EPD International AB  
Box 210 60  
SE-100 31 Stockholm 
Sweden 

EPD Russia 
116093, Moscow 
Lusinovskaya st, 36/1 
Russia 

Website: www.environdec.com www.epdrussia.org 

E-mail: info@environdec.com info@epdrussia.org 
 

Accountabilities for PCR, LCA and independent, third-party verification 

Product Category Rules (PCR) 

CEN standard EN 15804 serves as the Core Product Category Rules (PCR) 

Product Category Rules (PCR):  
PCR: Construction products 2019:14, version 1.3.4, c-PCR: Flat glass products used in buildings and 
other construction works 
UNCPC Code – 37113 (Float glass and surface ground or polished glass, in sheets) 

PCR review was conducted by: 
Martin Erlandsson, IVL Swedish Environmental Research Institute, martin.erlandsson@ivl.se 

Life Cycle Assessment (LCA) 

LCA accountability:  
Dmitrii Vadivasov (d.vadivasov@ciscenter.org), Valentina Luzanova (v.luzanova@ciscenter.org) 

Third-party verification 

Independent third-party verification of the declaration and data, according to ISO 14025:2006, via: 
 
☒ EPD verification by individual verifier 

 Third-party verifier: Dr Hüdai Kara, Metsims Sustainability Consulting (www.metsims.com) 
Approved by: The International EPD® System 

Procedure for follow-up of data during EPD validity involves third party verifier: 
☐ Yes ☒ No 

The EPD owner has the sole ownership, liability, and responsibility for the EPD.  
 

EPDs within the same product category but registered in different EPD programmes, or not 
compliant with EN 15804, may not be comparable. For two EPDs to be comparable, they must be 
based on the same PCR (including the same version number) or be based on fully-aligned PCRs or 
versions of PCRs; cover products with identical functions, technical performances and use (e.g. 
identical declared/functional units); have equivalent system boundaries and descriptions of data; 
apply equivalent data quality requirements, methods of data collection, and allocation methods; 
apply identical cut-off rules and impact assessment methods (including the same version 
of characterisation factors); have equivalent content declarations; and be valid at the time 
of comparison. For further information about comparability, see EN 15804 and ISO 14025.  

http://www.environdec.com/
mailto:info@epdrussia.org


  

 
 
  
 

PAGE 3/12 

Company information 
Owner of the EPD:  
Salavatsteklo, JSC 
 

Contacts:  
Tatiana Nikolaevna Philippova 
E-mail: ftn46@salstek.ru 

Tel.: +7 (3476) 37-70-12 
Web-site: www.salstek.com, www.salstek.ru 
 

Description of the organisation:  
SALAVATSTEKLO Group is one of the largest and dynamically developing in Russia and 
neighbouring countries. The group includes 3 plants for manufacturing glass and glass products with 
the widest range of products: JSC Salavatsteklo (Republic of Bashkortostan), JSC Saratovstroysteklo 
(Saratov region) and Salavatsteklo Kaspiy LLC (Republic of Dagestan). The experience of work on the 
Russian market of glass exceeds 60 years, experience on the international market - more than 30 
years. 
 
Our company currently operate in more than 20 countries around the world. Over 1300 employees 
of the company throughout Russia and the near abroad provide daily round-the-clock production 
and delivery of our products to customers. 
 
Salavatsteklo, JSC is one of the largest manufacturers of glass and glass products in Russia with flat 
glass manufacturing capacity of 1150 tons per day. The company produces float and float tinted 
glass, architectural and coated glass, mirrors, bottles, soluble sodium silicate, tempered construction 
and automative glass, as well as double-glaized windows. JSC Salavatsteklo is capable to produce 
clear float and coated float glass, conforming to International Quality standards, in a range of 
thickness from 1.8 to 12 mm. 
 
Product-related or management system-related certifications:  
Salavatsteklo, JSC manufacturing plant has certifications of quality management systems, 
environmental management systems, labour safety and careful manufacturing systems: ISO 
9001:2015, IATF 1649:2016 and implement provisions of ISO 45001:2018, ISO 14001:2015, as well 
as has CE marking certificates on its products. 
 

Name and location of production site(s):  

Salavatsteklo, JSC 
453253, Russian Federation, Republic of Bashkortostan, city of Salavat, 18, St.Industrialnaya 

 

Product information 
Product name:  

Clear Float Glass 

 

Product identification:  

Salavatsteklo’s Clear Float Glass is manufactured according to national and international standards, 

such as GOST 111-2014 and EN 572-9. Products manufactured at Salavatsteklo, JSC according to EN 

standards have CE marking. Technical details of all glass products are available at www.salstek.com 

or upon a request. 

  

mailto:ftn46@salstek.ru
http://www.salstek.com/


  

 
 
  
 

PAGE 4/12 

 Product description:  

This is a representative EPD for the clear float 
glass with a thickness of 4mm. Depending on 
specifics of client’s project several types of 
clear float glass could be produced: 

‐ Extraview 
‐ M0, M1 
‐ Ultraview, Ultraview R 

Range of sizes (mm):  
2550x1605, 2250x3210, 2600x1800, 
2550x3210, 6000x3210, <12000x3210 
Range of thickness: 1.8-12 mm  

Clear float glass is used to produce coated glass, insulating glass for construction purposes, 
insulating glass for road transport, interior elements, furniture and for the manufacture of consumer 
electronics. 
 
The EPD describes lifecycle impacts of a clear float glass (Extraview, M0, M1, Ultraview, Ultraview R) 
with a representative thickness of 4 mm produced at JSC Salavatsteklo in 2023 (68.42% of the whole 
volume of glass with different thickness produced). 
 
UN CPC code:  

37113 (Float glass and surface ground or polished glass, in sheets)

 

Geographical scope:  
Geographical scope for modules A1-A3 is Russia. All the main raw materials are sourced from Russian 
manufacturers and mining sources. The main manufacturing plant is located in Russia. Module A4 
represents the distribution mainly to Russian market as well as to geographically distributed locations 
throughout the world, including customers in Asia and Middle East. 
The end-of-life module is representative of a Russian market, common practice for construction waste 
utilization is considered. 
 

LCA information 

Declared unit:  

1 m2 of clear float glass weighing 9.58 kg with 4 mm thickness. 

 

Reference service life:  

It is assumed that clear float glass is integrated in building (module B) and thereof has the same 

service life as the building (30-50 years). 

 

Time representativeness:  

Specific data from the main manufacturing site collected for the year 2023. 

 

Database(s) and LCA software used:  

Ecoinvent 3.9.1 cut-off, EF 2.0, ELCD 3.2 Databases and OpenLCA 1.9.0 Software.  

 

Description of system boundaries: 

This EPD is based on cradle-to-grave with modules A1-A3, C1-C4, and module D based on the 

application of LCA methodology according to reference PCR. The following life cycle stages are 

considered: 

 



  

 
 
  
 

PAGE 5/12 

System diagram:  

 

 Product stage (Modules A1-A3): 

- Module A1: extraction and processing of all raw materials used in the production of 

JSC Salavatsteklo clear float glass (quartz sand, dolomite, soda ash, limestone, feldspar, 

sodium sulphate), as well as production of packaging (soft wood frames, steel tapes and 

brackets, PE film, “transfer powder”) and auxiliary materials (tin, oxygen, argon, silica, 

selenium).  

- Module A2: transport of raw materials including auxiliary materials and packaging to the 

manufacturing site considering actual distances from raw materials suppliers, as well as 



  

 
 
  
 

PAGE 6/12 

differences in used type of transport (lorry, railway transport) used for each raw material 

supply in 2023. 

- Module A3: manufacturing of clear float glass (by float-process), production and supply of 

energy used in the main manufacturing process (electricity, natural gas, process steam, 

water) and production waste processing - waste transportation by lorry and landfill 

scenario is considered.  

The electricity used in the manufacturing processes in A3 is sourced from the Russian 

power grid, with climate impact of 0.713 kg CO2 eq./kWh (dataset reference year – 2022) 

based on GWP-GHG indicator from the Ecoinvent 3.9.1 database 

 Construction process stage (Modules A4-A5): 

- Module A4: clear float glass transportation to the customers. The module is based on 

weighted average of 70% largest deliveries in 2023 considering distribution by lorry trucks 

and railway freights.  

- Module A5: receiving the finished product by the customer and handling of packaging 

waste. The packaging waste on landfill scenario has been considered. 

 End-of-life stage (Modules C1-C4) 

‐ Module C1: de-construction of clear float glass from the building (any other goods) it is 

integrated in. 

‐ Module C2: clear float glass after losing its utilization properties transportation to the 

waste processing. 

‐ Module C3: product waste processing. 

‐ Module C4: product waste disposal/utilization. Landfilling considered as the basic 

scenario for the clear float glass at a waste status. 

 Benefits and loads beyond the product system boundary (Module D) 

‐ Future reuse, recycling, or energy recovery potentials. Since the recycling rate 

is considered as 0%, no benefit is generated. 
 

Cut-off criteria: 

Data for elementary flows to and from the product system contributing to a minimum of 99% of the 

declared environmental impacts have been included. 1% cut-off rule according to the reference PCR 

is applied. 

 

Allocation: 

Allocation in Module A3 is excluded by collecting primary data for all the main processes directly. 

Allocation in other Modules of the Clear Float Glass according to datasets taken. 

 

Conversion Factors 

The LCIA impacts provided in the EPD is for declared unit of 1m2 clear float glass with 4 mm in 

thickness and a weight of 9.58 kg. Since the allocation by mass could be applied, the following 

conversion factors could be used to calculate the environmental impacts of different thicknesses of 

clear float glass. 

 

Thickness, 
mm 

2.0 2.1 2,2 2.3 2.5 3.0 3.2 3.4 3.5 4.0 5.0 6.0 8.0 10.0 12.0 

Conversion 
factor 

0.52 0.54 0.55 0.57 0.64 0.76 0.84 0.89 0.91 1 1.27 1.53 2.05 2.54 3.08 

 



  

 
 
  
 

PAGE 7/12 

Modules declared, geographical scope, share of specific data (in GWP-GHG results) and data 

variation (in GWP-GHG results): 

 

Product stage 
Construction 
process stage 

Use stage End of life stage 

 

Resource 
recovery 

stage 

 R
a

w
 m

a
te

ri
a

l 
su

p
p

ly
 

T
ra

n
sp

o
rt

 

M
a

n
u

fa
c

tu
ri

n
g

 

T
ra

n
sp

o
rt

 

C
o

n
st

ru
c

ti
o

n
 i

n
st

a
ll

a
ti

o
n

 

U
se

 

M
a

in
te

n
a

n
c

e
 

R
e

p
a

ir
 

R
e

p
la

c
e

m
e

n
t 

R
e

fu
rb

is
h

m
e

n
t 

O
p

e
ra

ti
o

n
a

l 
e

n
e

rg
y 

u
se

 

O
p

e
ra

ti
o

n
a

l 
w

a
te

r 
u

se
 

D
e

-c
o

n
st

ru
c

ti
o

n
 d

e
m

o
li

ti
o

n
 

T
ra

n
sp

o
rt

 

W
a

st
e

 p
ro

c
e

ss
in

g
 

D
is

p
o

sa
l 

 

R
e

u
se

-R
e

c
o

ve
ry

-R
e

c
yc

li
n

g
-

p
o

te
n

ti
a

l 

 

 

 

Module A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4  D 

Modules 
declared X X X X X ND ND ND ND ND ND ND X X X X  X 

Geography RU RU RU GLO GLO - - - - - - - RU RU RU RU  GLO 

Specific 
data used >90% - - - - - - - - - - - - -  - 

Variation – 
products <10%* - - - - - - - - - - - - -  - 

Variation – 
sites Not relevant - - - - - - - - - - - - -  - 

RU = Russian Federation; GLO = Global 

Content information 

Product components 
Weight, 
kg 

Post-consumer material, 
weight-% 

Biogenic material, 
weight-% and kg C/kg 

Float glass  9.57 0 0 

External glass scrap 

(post-consumer) 
0.01 100 0 

TOTAL 9.58 0.145 0 

Packaging materials 
Weight, 
kg 

Weight-% (versus the 
product) 

Weight biogenic 
carbon, kg C/kg 

Wooden caps 6.85E-02 0.71 0.49 

Metal straps 4.07E-03 0.01 0 

PE film 1.23E-03 0.04 0 

TOTAL 7.38E-02 0.77 0.49 

No substances included in the Candidate List of Substances of Very High Concern for authorization 

under the REACH regulations are present in this product either above the threshold for registration 

with the European Chemicals Agency or above 0.1% (wt/wt).



  

 
 
  
 

PAGE 8/12 

Results of the environmental performance indicators 
 

Mandatory impact category indicators according to EN 15804 

Results per 1m2 of clear float glass 

Indicator Unit A1-A3 A4 A5 B1-B7 C1 C2 C3 C4 D 

GWP-
fossil 

kg CO2 
eq. 

9.35E+00 2.30E-01 6.45E-03 ND 0.00E+00 5.60E-02 0.00E+00 2.61E-01 0.00E+00 

GWP-
biogenic 

kg CO2 
eq. 

2.91E-03 7.24E-04 8.79E-02 ND 0.00E+00 9.96E-05 0.00E+00 0.00E+00 0.00E+00 

GWP- 
luluc 

kg CO2 
eq. 

5.85E-03 5.11E-04 9.21E-06 ND 0.00E+00 4.07E-04 0.00E+00 1.12E-03 0.00E+00 

GWP- 
total 

kg CO2 
eq. 

9.36E+00 2.32E-01 9.46E-02 ND 0.00E+00 5.65E-02 0.00E+00 2.62E-01 0.00E+00 

ODP 
kg CFC 
11 eq. 

9.01E-08 6.90E-11 -1.40E-12 ND 0.00E+00 1.36E-13 0.00E+00 4.35E-13 0.00E+00 

AP 
mol H+ 

eq. 
5.31E-02 8.47E-04 1.36E-05 ND 0.00E+00 3.46E-04 0.00E+00 1.53E-03 0.00E+00 

EP-
freshwater 

kg P eq. 3.76E-04 6.88E-07 1.99E-07 ND 0.00E+00 3.56E-07 0.00E+00 3.85E-06 0.00E+00 

EP- 
marine 

kg N eq. 1.99E-02 2.42E-04 3.53E-05 ND 0.00E+00 1.61E-04 0.00E+00 4.57E-04 0.00E+00 

EP-
terrestrial 

mol N 
eq. 

2.37E-01 2.63E-03 8.66E-05 ND 0.00E+00 1.79E-03 0.00E+00 5.09E-03 0.00E+00 

POCP 
kg 

NMVOC 
eq. 

6.40E-02 5.56E-04 5.37E-05 ND 0.00E+00 3.06E-04 0.00E+00 1.25E-03 0.00E+00 

ADP-
minerals&

metals* 

kg Sb 
eq. 

1.58E-05 5.93E-08 -4.34E-10 ND 0.00E+00 3.28E-09 0.00E+00 2.42E-08 0.00E+00 

ADP-
fossil* 

MJ 1.43E+02 3.81E+00 -2.36E-02 ND 0.00E+00 7.68E-01 0.00E+00 3.43E+00 0.00E+00 

WDP* m3 5.64E+01 2.73E-02 -4.70E-05 ND 0.00E+00 2.16E-03 0.00E+00 2.01E-02 0.00E+00 

Acronyms 

GWP-fossil = Global Warming Potential fossil fuels; GWP-biogenic = Global Warming Potential biogenic; GWP-luluc = Global Warming 
Potential land use and land use change; ODP = Depletion potential of the stratospheric ozone layer; AP = Acidification potential, 
Accumulated Exceedance; EP-freshwater = Eutrophication potential, fraction of nutrients reaching freshwater end compartment; EP-
marine = Eutrophication potential, fraction of nutrients reaching marine end compartment; EP-terrestrial = Eutrophication potential, 
Accumulated Exceedance; POCP = Formation potential of tropospheric ozone; ADP-minerals&metals = Abiotic depletion potential for 
non-fossil resources; ADP-fossil = Abiotic depletion for fossil resources potential; WDP = Water (user) deprivation potential, deprivation-
weighted water consumption 

* Disclaimer: The results of this environmental impact indicator shall be used with care as the uncertainties of these results are 

high or as there is limited experience with the indicator. 
 

Additional mandatory and voluntary impact category indicators 

Results per 1m2 of clear float glass 

Indicator Unit A1-A3 A4 A5 B1-B7 C1 C2 C3 C4 D 

GWP-
GHG1 

kg CO2 
eq. 

9.35E+00 2.30E-01 6.45E-03 ND 0.00E+00 5.60E-02 0.00E+00 2.61E-01 0.00E+00 

 

  

                                                      
1 This indicator accounts for all greenhouse gases except biogenic carbon dioxide uptake and emissions and biogenic carbon 

stored in the product. As such, the indicator is identical to GWP-total except that the CF for biogenic CO2 is set to zero. 



  

 
 
  
 

PAGE 9/12 

Resource use indicators 

 Results per 1m2 of clear float glass 

Indicator Unit A1-A3 A4 A5 B1-B7 C1 C2 C3 C4 D 

PERE MJ 5.29E+00 1.03E+00 -7.31E-03 ND 0.00E+00 4.35E-02 0.00E+00 3.15E-01 0.00E+00 

PERM MJ 0.00E+00 0.00E+00 0.00E+00 ND 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PERT MJ 5.29E+00 1.03E+00 -7.31E-03 ND 0.00E+00 4.35E-02 0.00E+00 3.15E-01 0.00E+00 

PENRE MJ 4.04E+01 3.81E+00 -2.35E-02 ND 0.00E+00 7.69E-01 0.00E+00 3.45E+00 0.00E+00 

PENRM MJ 0.00E+00 0.00E+00 0.00E+00 ND 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

PENRT MJ 4.04E+01 3.81E+00 -2.35E-02 ND 0.00E+00 7.69E-01 0.00E+00 3.45E+00 0.00E+00 

SM kg 0.00E+00 0.00E+00 0.00E+00 ND 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

RSF MJ 0.00E+00 0.00E+00 0.00E+00 ND 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

NRSF MJ 0.00E+00 0.00E+00 0.00E+00 ND 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

FW m3 3.57E+00 1.38E-02 -2.25E-04 ND 0.00E+00 3.45E-04 0.00E+00 6.21E-03 0.00E+00 

Acronyms 

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM = Use of 
renewable primary energy resources used as raw materials; PERT = Total use of renewable primary energy resources; PENRE = Use of 
non-renewable primary energy excluding non-renewable primary energy resources used as raw materials; PENRM = Use of non-
renewable primary energy resources used as raw materials; PENRT = Total use of non-renewable primary energy re-sources; SM = Use 
of secondary material; RSF = Use of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Use of net fresh 
water 

 

Waste indicators 

Results per 1m2 of clear float glass 

Indicator Unit A1-A3 A4 A5 B1-B7 C1 C2 C3 C4 D 

Hazardous 
waste 

disposed 
kg 4.60E-07 5.17E-08 4.77E-09 ND 0.00E+00 5.79E-08 0.00E+00 7.67E-07 0.00E+00 

Non-
hazardous 

waste 
disposed 

kg 6.53E-02 6.07E-03 3.51E-02 ND 0.00E+00 1.09E-04 0.00E+00 9.68E+00 0.00E+00 

Radioactive 
waste 

disposed 
kg 2.13E-02 4.82E-04 -1.17E-05 ND 0.00E+00 1.10E-06 0.00E+00 3.01E-08 0.00E+00 

 

  



  

 
 
  
 

PAGE 10/12 

Output flow indicators 

Results per 1m2 of clear float glass 
Indicator Unit A1-A3 A4 A5 B1-B7 C1 C2 C3 C4 D 

Component
s for re-use 

kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Material for 
recycling 

kg 1.39E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Materials for 
energy 

recovery 
kg 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Exported 
energy, 

electricity 
MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

Exported 
energy, 
thermal 

MJ 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 

 

  



  

 
 
  
 

PAGE 11/12 

References 
General Programme Instructions of the International EPD® System. Version 4.0. 

PCR 2019:14. Construction products. 1.3.4 

c-PCR Flat glass products used in buildings and other construction works 

 

 

 

 

 



 

    
   

www.environdec.com 
  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

www.environdec.com 


